
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 krul5ofsf] df]xg rf}s b]lv blIf0f hfg] /fdgf/fo0f /fosf] 3/

;Ddsf] ;8sdf kSsL gfnf lgdf{0f / ;8s 9nfg sf] nfuL
2,000,000.00       

2

sljnf;L g=kf= jf8{ g+= % ;'lgn s'df/ u'Ktfsf] 3/ b]lv k'j{k§L

nfnafa' /fosf] 3/ x'b}+ a|xd :yfg ;Ddsf] ;8sdf b'j} 5]pdf kSsL

gfnf lgdf{0f / dd{t, u|]en tyf cfjZostf cg';f/ ;8s 9nfg

lgdf{0fsf] nflu

1,500,000.00        

3 krul5of blnt 6f]ndf k|ltIffno lgdf{0f 300,000.00          

4 /lgof ufpFsf] gx/ b]lv klZrd hfg] xl/ z/0f /fosf] v]t ;Dd

;8s dd{t, b'j} 5[pdf kSsL gfnf lgdf{0f / ;8s 9nfgsf] nflu 
1,800,000.00       

5 /lgof ufpFsf] klZrd k§L /x]sf] d'n ;8sdf df6f] k'g]{ tyf dd{t

ug{] ;fw' afaf :yfg ;Dd
200,000.00          

6
/lgof a|xd :yfg lg/ g/xdf /x]sf] kSsL k'n b]lv k'j{k§L hfg]

a}gfy, ljnf;sf] v]t lg/ x'b}+ pQ/ k§L hfg] d'n ;8s dd{t, lgdf{0f

/ cfjZostf cg';f/ sNe6{ lgdf{0f sfo{sf] nflu

1,000,000.00       

7 krul5of / /lgof ufpF6f]nsf] vfg]kfgLsf] nflu cfjZostf cg';f/

%) yfg x}08 kfO{k h8fg ug{sf] nflu
200,000.00          

8 /lgof /fdaxfb'/sf] 3/ lg/sf] Ogf/ dd{t 150,000.00          

9 v/bf}nL hfg] ;8sdf sNe{6 lgdf{0f 850,000.00         

hDdf 8,000,000.00       

sljnf;L gu/kflnsf jf8{ g+= % sf] of]hgfx?


